

Significant Figures

- 1) 6
- 2) 10
- 3) 3
- 4) 12
- 5) 4
- 6) 6
- 7)  $5.6 \times 10^4$
- 8) 7.0
- 9) .02
- 10) 440.0
- 11) 555.
- 12) 8597

Speed, Velocity, Acceleration

$$1) s = \frac{d}{t} = \frac{32.7}{54} = 0.6055 \text{ m/s}$$

$$v = \frac{\Delta x}{\Delta t} = \frac{27}{22} = 1.227 \text{ m/s}$$

$$3) s = \frac{d}{t} = \frac{11200900}{432000} = 25.93 \text{ m/s}$$

$$v = \frac{\Delta x}{\Delta t} = \frac{32000000}{4420000} = 7.407 \text{ m/s}$$

$$2) s = \frac{d}{t} = \frac{347}{134} = 2.5896 \text{ m/s}$$

$$v = \frac{\Delta x}{\Delta t} = \frac{200}{134} = 1.493 \text{ m/s}$$

$$4) v_g^2 = v_o^2 + 2ax$$

$$a = \frac{v_f^2 - v_o^2}{2x} = \frac{0 - 32^2}{2(175.76m)} = 6.76 \text{ m/s}^2$$

$$\frac{72 \text{ mi}}{\text{hr}} \cdot \frac{1760 \text{ yd}}{1 \text{ mi}} \cdot \frac{3 \text{ m}}{1 \text{ yd}} \cdot \frac{1 \text{ hr}}{3600 \text{ sec}} = 32 \text{ m/s}$$

$$200 \text{ ft} \cdot \frac{1 \text{ yd}}{3 \text{ ft}} \cdot \frac{3 \text{ m}}{3.3 \text{ yd}} = 75.76 \text{ m}$$

Dimensional Analysis

$$1) mv = F \cdot t \quad \text{units}$$

$$F = m \cdot a \quad \text{m} \cdot \text{kg}$$

$$a = \text{m/s}^2 \quad v = \text{m/s}$$

$$l = s$$

$$\text{kg} \cdot \frac{\text{m}}{\text{s}} = \text{kg} \cdot \frac{\text{m}}{\text{s}^2} \cdot \text{s}$$

$$\text{kg} \cdot \frac{\text{m}}{\text{s}} = \text{kg} \cdot \frac{\text{m}}{\text{s}}$$

$$2) H = m C \Delta T \quad m = \text{kg}$$

$$H = F \cdot d \quad a = \text{m/s}^2$$

$$= m \cdot a \cdot d \quad d = m$$

$$T = K^\circ$$

$$\frac{H}{m \Delta T} = C$$

$$\frac{\text{kg} \cdot \frac{\text{m}^2}{\text{s}^2}}{\text{kg} \cdot \text{K}^\circ} = \frac{\text{m}^2}{\text{s}^2 \cdot \text{K}^\circ}$$

$$3) P = K A \Delta T / l$$

$$W = \text{J/s}$$

$$J = \text{N} \cdot \text{m}$$

$$N = \text{kg} \cdot \text{m/s}^2$$

$$P = \frac{\text{kg} \cdot \frac{\text{m}^2}{\text{s}^2} / \text{m} \cdot \text{K}^\circ}{\text{m}} = \frac{\text{kg} \cdot \text{m}^2 \cdot \text{m}^2 \cdot \text{K}^\circ}{\text{s}^2 \cdot \text{m}^2 \cdot \text{K}^\circ} = \frac{\text{kg} \cdot \text{m}^2}{\text{s}^2}$$

$$= \frac{\text{kg} \cdot \text{m}^2}{\text{s}^2} = \frac{\text{kg} \cdot \text{m}^2}{\text{s}^2}$$